
Name ______________________________ Period _____     

Unit 4 Review 
1) What is a rational number? 

_______________________________________________________________________________ 

_______________________________________________________________________________ 

 

Write each fraction or mixed number as a decimal. 

2)    
12

7
   3)   

80

3
    4)   

15

1
7  

 

 

 

 

Write each decimal as a fraction. 

5)    .843        6)   -8.16                7)   32.0   8)   069.  

 

 

 

 

 

9)  When Juliana went strawberry picking and picked 54 strawberries. She ate 28 of them.  Write a 

fraction and a decimal the represent the number of strawberries she ate.  Round the decimal to the 

nearest thousandth place. 

 

 

 

Evaluate each expression. 

10.     53   

 

 

11.   410  

 

 

12.   52   
  13. 

3

3

1









 

 

 

Simplify.    

14.    x · x 2 · x 3

   

15.    2x 2 · 3x 16.  (4uv)(-u)(2u 4 v)

  

17.   (-3a 2 c)(-3b 2 c) 

 

 

 

 

 

18.  2

38

24

8

ab

ba
 19.      

ba

ba
5

384

3

3

  

20.    
 
  75

386

854

854




 21.    75

78

14

21

nm

nm
 

 

 

 

 

 

Score: 

_________/__________ 

__________________% 



Simplify.    

22.     34x   23.      237n  24.     5436 yx   25.      493md  26.    24538 10 yxyx  

 

 

 

 

 

 

 

27.      344 9yxy   

 

28.       22238 tuut   29.      4238

2
1 60kvvk

     

30.   

3

5

2








d

          

 

 

 

 

 

 

Write your answers in exponential form. 

31.  
67 )8(  

 

32.     
32

32 
 

  33.       34262 85 baab

    
34.     

52
3 43a b 

                

 

 

 

 

 

 

35.    
3 4

3 22 6a a  
36.    (-ab)(-b 2 c 2 )(-a 2 b 2 ) 

 

 

 

 

 

37.    8

11





a

a
 38.   139

72





yx

yx
  

39. 
85

711

15

25

ba

ba




  

40.  
59 1111    

 
41.   

26 77   

 

 

 

 

 

   

42.    6

13

7

7

     

  

43.   
24

56

26

14

ba

ba

  44.  
86

283

45

36

zxy

zyx



 

45.     

3

4

42










x

yx

  

46.    
33

20

2

16

yx

yx
 

 

 


